

Carleman type estimates for some non linear parabolic problems

Bassirou Dia¹ and Benjamin Mampassi²

Abstract

We consider a more general nonlinear parabolic partial differential equations system with non homogeneous Neumann boundary conditions. Under some growing conditions on the non linear term we establish some Carleman type estimates for the solution of the considered system.

Mathematics Subject Classification: 35K55

Keywords: Global Carleman inequalities; Nonlinear parabolic equations; Null controllability.

1 Introduction

Carleman estimates, introduced in 1939 [1] as exponential weighted energy inequalities for proving existence and uniqueness of solutions of linear elliptic

¹ Department of Mathematics, Cheikh Anta Diop University, Dakar, BP 5005 Dakar, Senegal. E-mail: diabass72@hotmail.fr

² Department of Mathematics, Cheikh Anta Diop University, Dakar, BP 15251 Dakar Fann, Senegal. E-mail: mampassi@yahoo.fr

PDEs, have since been used with or without success to some controllability of PDEs systems. Particularly, it is well known that they play an important role for establishing null controllability for parabolic and hyperbolic PDEs. That is why, a larger number of papers is devoted to Carleman estimates and their applications. See [3],[4], [5], [7], [10] and the references therein. In addition, it can also be noted that Carleman estimates have particularly been proved to be useful for the resolution of inverse problems of some PDEs [6], [11], [12].

Carleman estimates, specifically for problems with inner control depending whether of boundary condition type, have been proposed in the literature [5], [8] and [9]. It should be noted however that Carleman type estimates are not easy to obtain. Difficulties can arise when considering PDEs with nonlinear terms or for problems associated with non homogeneous boundary conditions.

In this paper, we are then concerned with a problem of establishing Carleman estimates for a nonlinear parabolic equation with non homogeneous Neumann boundary condition. To this end, we first establish some preliminaries results in section 3, then we prove in section 4 some useful results concerning Carleman estimates.

2 Problem Formulation

Let Ω be a bounded domain of \mathbb{R}^d , ($d = 2$ or 3) whose boundary is denoted by Γ . For given time parameter $T > 0$, we consider a non linear parabolic partial differential equation

$$\partial_t \psi - \nabla \cdot \mathcal{A} \nabla \psi + F(\psi) = 0 \quad \text{in } Q_T = (0, T) \times \Omega \quad (1)$$

with following Neumann boundary condition

$$\mathcal{A} \nabla \psi \cdot n = g \quad \text{on } \Sigma_T = (0, T) \times \Gamma \quad (2)$$

and initial condition

$$\psi(0) = \psi_0 \quad \text{in } \Omega. \quad (3)$$

Here, \mathcal{A} denotes a linear operator from \mathbb{R}^d to \mathbb{R}^d that satisfies elliptic property:

$$\exists C > 0 \text{ such that } \xi^t \mathcal{A} \xi \geq C |\xi|^2 \quad \forall \xi \in \mathbb{R}^d. \quad (4)$$

Furthermore, we shall assume that the operator \mathcal{A} is symmetric, that is

$$\xi^t \mathcal{A} \eta = \eta^t \mathcal{A} \xi \quad \forall \eta, \xi \in \mathbb{R}^d. \quad (5)$$

F is a given non linear scalar function of class \mathcal{C}^1 while g and ψ_0 are given functions with some regularities properties. We shall also assume that

$$(u - v)(F(u) - F(v)) \geq 0 \quad \forall u, v \in \mathbb{R} \quad (6)$$

and

$$F(0) = 0. \quad (7)$$

In this paper, we would like to establish some Carleman type inequalities that will be useful to the following controllability problem: find φ solution of the following system equations

$$-\partial_t \varphi + \nabla \cdot \mathcal{A} \nabla \varphi + F(\varphi) = v \chi_\omega \quad \text{in } Q_T = (0, T) \times \Omega \quad (8)$$

$$\mathcal{A} \nabla \varphi \cdot n = g \quad \text{on } \Sigma_T = (0, T) \times \Gamma \quad (9)$$

$$\varphi(T) = \varphi_T \quad \text{in } \Omega \quad (10)$$

such that

$$\varphi(0) = 0 \quad \text{in } \Omega. \quad (11)$$

For a given non empty $\omega \subset \Omega$, we would like to establish an observability inequality. In fact, difficulties in establishing Carleman type estimates lies in the presence of the nonlinear term $F(\varphi)$ so that additional conditions to this term is required. Also, it should be noticed that the observability inequality is well known to be very helpfully for establishing the controllability of the problem (8)-(11).

3 Preliminary Results

Let us consider a function η^0 of class $\mathcal{C}^2(\Omega)$ that satisfies

$$\begin{cases} \eta^0 > 0 & \text{in } \Omega \\ |\nabla \eta^0(x)| \neq 0 & \forall x \in \overline{\Omega \setminus \omega'} \\ \eta^0 = 0 & \text{on } \Gamma \end{cases} \quad (12)$$

where $\omega' \subset \Omega$. One can refer to [2], [7] for the existence of η^0 . In addition, we consider following weight functions:

$$\alpha(t, x) = (t(T - t))^{-1} \left(e^{2\lambda\|\eta^0\|_\infty} - e^{\lambda(\|\eta^0\|_\infty + \eta^0(x))} \right) \quad (13)$$

and

$$\xi(t, x) = (t(T - t))^{-1} e^{\lambda(\|\eta^0\|_\infty + \eta^0(x))} \quad (14)$$

with $\lambda > 0$ and where $\|\cdot\|_\infty$ denotes a uniform norm. Also, for the sake of simplicity, we shall sometimes set

$$\Delta'(\cdot) = \nabla \cdot \mathcal{A} \nabla(\cdot). \quad (15)$$

We easily derive following formulas:

$$\begin{aligned} \nabla \xi &= \lambda \xi \nabla(\eta^0), \quad \nabla \alpha = -\lambda \xi \nabla(\eta^0), \quad \mathcal{A} \nabla \alpha = -\lambda \xi \mathcal{A} \nabla(\eta^0), \\ \Delta'(\alpha) &= -\lambda^2 \xi \cdot \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) - \lambda \xi \Delta'(\eta^0), \\ \frac{\partial \xi}{\partial t} &= 2(T - t)^{-1} \xi - T(t(T - t))^{-1} \xi, \\ \frac{\partial \alpha}{\partial t} &= 2t(t(T - t))^{-2} e^{2\lambda\|\eta^0\|_\infty} - T(t(T - t))^{-2} e^{2\lambda\|\eta^0\|_\infty} \\ &\quad - 2((T - t))^{-1} \xi + T(t(T - t))^{-1} \xi, \\ \frac{\partial^2 \xi}{\partial t^2} &= 2((t(T - t)) + (2t - T)^2)(t(T - t))^{-3} e^{\lambda(\|\eta^0\|_\infty + \eta^0)}, \\ \frac{\partial(\xi^2)}{\partial t} &= 4t(T - t)^{-1} \xi^2 - 2T(t(T - t))^{-1} \xi^2. \end{aligned} \quad (16)$$

From which, it is not difficult to see that there exists a positive constant C (C may denote different constant) such that for $t \in (0, T)$ and for sufficiently larger value of λ , we have

$$\left| \frac{\partial \alpha}{\partial t} \right| \leq C \xi^2, \quad \left| \frac{\partial \xi}{\partial t} \right| \leq C \xi^2, \quad \left| \frac{\partial^2 \xi}{\partial t^2} \right| \leq C \xi^2, \quad \left| \frac{\partial^2 \alpha}{\partial t^2} \right| \leq C \xi^3 \quad \text{and} \quad |\Delta'(\alpha)| \leq C \lambda^2 \xi \quad (17)$$

We now define a sufficiently regular function that is

$$\tilde{\psi}(t, x) = e^{-s\alpha(t, x)} \psi(t, x) \quad (18)$$

for some non negative real s to be chosen later. Such a function obviously satisfies

$$\lim_{t \rightarrow 0} \tilde{\psi}(t, x) = \lim_{t \rightarrow T} \tilde{\psi}(t, x) = 0. \quad (19)$$

Then, after some calculations, one can see that ψ is solution of (1) - (3) if and only if $\tilde{\psi}$ is solution of the following equations system:

$$\begin{aligned} s \frac{\partial \alpha}{\partial t} \tilde{\psi} + \frac{\partial \tilde{\psi}}{\partial t} + e^{-s\alpha} F \left(e^{s\alpha} \tilde{\psi} \right) &= s^2 \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) + 2s \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\ &\quad + s \tilde{\psi} \Delta'(\alpha) + \Delta'(\tilde{\psi}) \text{ in } (0, T) \times \Omega \end{aligned} \quad (20)$$

$$s \tilde{\psi} \mathcal{A} \nabla(\alpha) \mathbf{n} + \mathcal{A} \nabla(\tilde{\psi}) \mathbf{n} = e^{-s\alpha} g \quad \text{on } \Sigma_T \quad (21)$$

$$\tilde{\psi}(0) = \tilde{\psi}(T) = 0. \quad (22)$$

We rewrite the equation (20) as follows

$$L(\tilde{\psi}) + G(\tilde{\psi}) = 0 \text{ in } (0, T) \times \Omega \quad (23)$$

by setting

$$L(\tilde{\psi}) := s \frac{\partial \alpha}{\partial t} \tilde{\psi} - s \tilde{\psi} \Delta'(\alpha) - s^2 \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \quad (24)$$

and

$$G(\tilde{\psi}) := \frac{\partial \tilde{\psi}}{\partial t} + e^{-s\alpha} F \left(e^{s\alpha} \tilde{\psi} \right) - 2s \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) - \Delta'(\tilde{\psi}). \quad (25)$$

Next, we shall set $\langle f, g \rangle = \int_0^T \int_{\Omega} fg$.

We now establish some preliminary results. Our first result is:

Proposition 3.1. *Assume that $0 < \lambda < \lambda_0$ and $0 < s < s_0$ for given λ_0 and s_0 . Then, under hypotheses (5) and (6) there exists a positive constant C such that for every $\psi \in \mathcal{C}([0, T]; L^2(\Omega)) \cap L^2(0, T; H^1(\Omega))$ and $g \in L^2(\Sigma_T)$ we have*

$$\begin{aligned} \langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle &\geq -Cs^2\lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla \psi|^2 \right) \\ &\quad -Cs^3\lambda \left(\int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla \psi|^2 \right) \\ &\quad -Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla \psi|^2 \\ &\quad -Cs^4\lambda^5 \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 - Cs^5\lambda^3 \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\ &\quad -Cs^2\lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) - Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\ &\quad -Cs^2\lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\ &\quad -Cs^3\lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt. \end{aligned} \quad (26)$$

To prove the proposition 3.1 we need following lemmas.

Lemma 3.1. *Under hypotheses of the proposition 3.1, there exists a positive constant C such that*

$$\langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle \geq -C (s\lambda + s\lambda^2) \int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 - C(s + s^2\lambda^2) \int_0^T \int_{\Omega} \tilde{\psi}^2 \xi^3. \quad (27)$$

Proof. Replacing $L(\tilde{\psi})$ by its expression (24) one writes

$$\begin{aligned} \langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle &= s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} \frac{\partial \tilde{\psi}}{\partial t} - s \int_0^T \int_{\Omega} \tilde{\psi} \frac{\partial \tilde{\psi}}{\partial t} \Delta'(\alpha) \\ &\quad - s^2 \int_0^T \int_{\Omega} \tilde{\psi} \frac{\partial \tilde{\psi}}{\partial t} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha). \end{aligned}$$

Knowing that $\lim_{t \rightarrow 0} \tilde{\psi}(t, x) = \lim_{t \rightarrow T} \tilde{\psi}(t, x) = 0$ and integrating by parts over $(0, T)$ one obtains

$$\begin{aligned} \langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle &= -\frac{s}{2} \int_0^T \int_{\Omega} \tilde{\psi}^2 \frac{\partial^2 \alpha}{\partial t^2} + \frac{s}{2} \int_0^T \int_{\Omega} \tilde{\psi}^2 \frac{\partial}{\partial t} \Delta'(\alpha) \\ &\quad + \frac{s^2}{2} \int_0^T \int_{\Omega} \tilde{\psi}^2 \frac{\partial}{\partial t} (\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha)). \end{aligned}$$

We replace $\Delta'(\alpha)$ and $\nabla(\alpha)$ by their expressions in formulas (16) to obtain

$$\begin{aligned} \langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle &= -\frac{s}{2} \int_0^T \int_{\Omega} \frac{\partial^2 \alpha}{\partial t^2} \tilde{\psi}^2 - \frac{s\lambda^2}{2} \int_0^T \int_{\Omega} \frac{\partial \xi}{\partial t} \tilde{\psi}^2 \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) \\ &\quad - \frac{s\lambda}{2} \int_0^T \int_{\Omega} \frac{\partial \xi}{\partial t} \tilde{\psi}^2 \Delta'(\eta^0) + \frac{s^2\lambda^2}{2} \int_0^T \int_{\Omega} \frac{\partial \xi^2}{\partial t} \tilde{\psi}^2 (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)). \end{aligned}$$

Using inequalities in (17) yealds that there exists a positive constant C such that

$$\begin{aligned} \langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle &\geq -Cs \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 - C(s + s\lambda + s\lambda^2) \int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 \\ &\quad + \frac{s^2\lambda^2}{2} \int_0^T \int_{\Omega} \tilde{\psi}^2 \frac{\partial \xi^2}{\partial t} (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)). \end{aligned}$$

We remark that

$$\frac{s^2\lambda^2}{2} \int_0^T \int_{\Omega} \tilde{\psi}^2 \frac{\partial \xi^2}{\partial t} (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) = s^2\lambda^2 \int_0^T \int_{\Omega} \tilde{\psi}^2 \xi \frac{\partial \xi}{\partial t} (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0))$$

and using again inequalities in (17), we obtain:

$$\left| s^2 \lambda^2 \int_0^T \int_{\Omega} \tilde{\psi}^2 \xi \frac{\partial \xi}{\partial t} (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \right| \leq C s^2 \lambda^2 \int_0^T \int_{\Omega} \tilde{\psi}^2 \xi^3.$$

Consequently, it follows

$$\langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle \geq -C(s\lambda + s\lambda^2) \int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 - C(s + s^2 \lambda^2) \int_0^T \int_{\Omega} \tilde{\psi}^2 \xi^3$$

for some positive constant C . The lemma is then proved. \square

Lemma 3.2. *Under hypotheses of the proposition 3.1, there exists a positive constant C such that*

$$\begin{aligned} \langle L(\tilde{\psi}), e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \rangle &\geq -C(s + s^2 \lambda^2) \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \tilde{\psi} F(e^{s\alpha} \tilde{\psi}) \\ &\quad - C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-s\alpha} \tilde{\psi} F(e^{s\alpha} \tilde{\psi}). \end{aligned} \quad (28)$$

Proof. We have

$$\begin{aligned} \langle L(\tilde{\psi}), e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \rangle &= s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \\ &\quad - s \int_0^T \int_{\Omega} \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \Delta'(\alpha) \\ &\quad - s^2 \int_0^T \int_{\Omega} \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha). \end{aligned}$$

From hypotheses (6) and (7) one can see that $e^{s\alpha} \tilde{\psi} F(e^{s\alpha} \tilde{\psi}) \geq 0$ and, thanks to (17), we obtain the following estimation:

$$\left| \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \right| \leq C \int_0^T \int_{\Omega} \xi^2 \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}).$$

Thus, we deduce

$$s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \geq -C s \int_0^T \int_{\Omega} \xi^2 \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi})$$

Consequently, using (16) and (17) one finally obtains

$$\begin{aligned} \langle L(\tilde{\psi}), e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \rangle &\geq -C(s + s^2 \lambda^2) \int_0^T \int_{\Omega} \xi^2 \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \\ &\quad - C s \lambda^2 \int_0^T \int_{\Omega} \xi \tilde{\psi} e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}). \end{aligned}$$

Thus, we deduce the inequality (28). \square

Lemma 3.3. *Under hypotheses of the proposition 3.1, there exists a positive constant C such that*

$$\begin{aligned}
& -2s \langle L(\tilde{\psi}), \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \rangle \\
& \geq -C (s^2 \lambda^3 + s^2 \lambda^2) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla(\tilde{\psi})|^2 \right) \\
& - C (s^2 \lambda + s^3 \lambda^3) \left(\int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^3 |\nabla(\tilde{\psi})|^2 \right).
\end{aligned} \tag{29}$$

Proof. We have

$$\begin{aligned}
-2s \langle L(\tilde{\psi}), \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \rangle &= -2s^2 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
&+ 2s^2 \int_0^T \int_{\Omega} \tilde{\psi} \Delta'(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
&+ 2s^3 \int_0^T \int_{\Omega} \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha).
\end{aligned}$$

Thanks to (16) and (17), one obtains the following estimation:

$$\begin{aligned}
\left| \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \right| &\leq \int_0^T \int_{\Omega} \left| \frac{\partial \alpha}{\partial t} \right| |\tilde{\psi}| |\nabla(\tilde{\psi})| |\mathcal{A} \nabla(\alpha)| \\
&\leq C \lambda \int_0^T \int_{\Omega} \xi^3 |\tilde{\psi}| |\nabla(\tilde{\psi})|.
\end{aligned}$$

Applying Young's inequality yealds

$$\begin{aligned}
& -2s^2 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
& \geq -Cs^2 \lambda \left(\int_0^T \int_{\Omega} \xi^3 |\tilde{\psi}|^2 + \int_0^T \int_{\Omega} \xi^3 |\nabla(\tilde{\psi})|^2 \right)
\end{aligned} \tag{i}$$

Also thanks to formulas (16), we can write

$$\begin{aligned}
& \int_0^T \int_{\Omega} \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
& = -\lambda^3 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi} \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\eta^0).
\end{aligned}$$

Applying Young's inequality and formulas (17) one obtains

$$\begin{aligned}
& 2s^3 \int_0^T \int_{\Omega} \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
& \geq -Cs^3 \lambda^3 \left(\int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^3 |\nabla(\tilde{\psi})|^2 \right).
\end{aligned} \tag{ii}$$

Otherwise,

$$\begin{aligned}
& 2s^2 \int_0^T \int_{\Omega} \tilde{\psi} \Delta'(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
&= 2s^2 \lambda^3 \int_0^T \int_{\Omega} \tilde{\psi} \xi^2 \cdot \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\eta^0) (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \\
&+ 2s^2 \lambda^2 \int_0^T \int_{\Omega} \tilde{\psi} \xi^2 \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\eta^0) \Delta'(\eta^0).
\end{aligned}$$

We apply again Young's inequality and formulas (17) to obtain

$$\begin{aligned}
& 2s^2 \int_0^T \int_{\Omega} \tilde{\psi} \Delta'(\alpha) \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \\
&\geq -Cs^2 \lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla(\tilde{\psi})|^2 \right) \\
&- Cs^2 \lambda^2 \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla(\tilde{\psi})|^2 \right). \tag{iii}
\end{aligned}$$

Combining (i), (ii), and (iii), we finally obtain

$$\begin{aligned}
& -2s \langle L(\tilde{\psi}), \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \rangle \\
&\geq -C(s^2 \lambda^3 + s^2 \lambda^2) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla(\tilde{\psi})|^2 \right) \\
&- C(s^2 \lambda + s^3 \lambda^3) \left(\int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^3 |\nabla(\tilde{\psi})|^2 \right).
\end{aligned}$$

This achieves the proof. \square

Lemma 3.4. *Under hypotheses of the proposition 3.1, we have*

$$\begin{aligned}
-\langle L(\tilde{\psi}), \Delta'(\tilde{\psi}) \rangle &\geq -Cs\lambda^2 \int_0^T \int_{\Omega} \xi |\nabla \tilde{\psi}|^2 - C(s + s^2 \lambda^2) \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \\
&- C(s\lambda + s\lambda^2 + s\lambda^3 + s^2 \lambda^3) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right) \\
&- Cs\lambda^2 \int_{\Sigma_T} \xi |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt \\
&- C(s + s^2 \lambda^2) \int_{\Sigma_T} \xi^2 |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt \\
&- Cs^2 \lambda^3 \int_{\Sigma_T} \xi \tilde{\psi}^2 d\sigma dt - Cs^3 \lambda^3 \int_{\Sigma_T} \xi^2 \tilde{\psi}^2 d\sigma dt. \tag{30}
\end{aligned}$$

Proof. We have

$$\begin{aligned}
-\langle L(\tilde{\psi}), \Delta'(\tilde{\psi}) \rangle &= -s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi} \Delta'(\tilde{\psi}) + s \int_0^T \int_{\Omega} \tilde{\psi} \Delta'(\alpha) \Delta'(\tilde{\psi}) \\
&+ s^2 \int_0^T \int_{\Omega} \tilde{\psi} \Delta'(\tilde{\psi}) \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha).
\end{aligned}$$

The use of Green's formula gives

$$\begin{aligned}
-\langle L(\tilde{\psi}), \Delta'(\tilde{\psi}) \rangle &= s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \\
&\quad - s \lambda \int_0^T \int_{\Omega} \frac{\partial \xi}{\partial t} \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\eta^0) \\
&\quad - s \int_{\Sigma_T} \frac{\partial \alpha}{\partial t} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nds \\
&\quad - s \int_0^T \int_{\Omega} \Delta'(\alpha) \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \\
&\quad - s \int_0^T \int_{\Omega} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\Delta'(\alpha)) \\
&\quad + s \int_{\Sigma_T} \Delta'(\alpha) \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nd\sigma dt \\
&\quad - s^2 \int_0^T \int_{\Omega} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \\
&\quad - s^2 \int_0^T \int_{\Omega} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha)) \\
&\quad + s^2 \int_{\Sigma_T} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nd\sigma dt.
\end{aligned}$$

We assume that this equality can be written in the form

$$-\langle L(\tilde{\psi}), \Delta'(\tilde{\psi}) \rangle = (a) + (b) + (c) + (d)$$

where

$$\begin{aligned}
(a) &= s \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) - s \int_0^T \int_{\Omega} \Delta'(\alpha) \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \\
&\quad - s^2 \int_0^T \int_{\Omega} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \\
(b) &= -s^2 \int_0^T \int_{\Omega} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha)) \\
&\quad - s \lambda \int_0^T \int_{\Omega} \frac{\partial \xi}{\partial t} \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\eta^0) \\
(c) &= -s \int_0^T \int_{\Omega} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\Delta'(\alpha)) \\
(d) &= -s \int_{\Sigma_T} \frac{\partial \alpha}{\partial t} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nd\sigma dt + s \int_{\Sigma_T} \Delta'(\alpha) \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nd\sigma dt \\
&\quad + s^2 \int_{\Sigma_T} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \, nd\sigma dt.
\end{aligned}$$

And, we estimate each term of the above expression. From inequalities in formulas (17) and knowing that the operator \mathcal{A} is positive, we successively

deduce

$$\begin{aligned} \left| \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla (\tilde{\psi}) \right| &\leq C \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2, \\ \left| \int_0^T \int_{\Omega} \Delta'(\alpha) \nabla \tilde{\psi} \cdot \mathcal{A} \nabla (\tilde{\psi}) \right| &\leq C \lambda^2 \int_0^T \int_{\Omega} \xi |\nabla \tilde{\psi}|^2, \\ \left| \int_0^T \int_{\Omega} \nabla \tilde{\psi} \cdot \mathcal{A} \nabla (\tilde{\psi}) \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \right| &\leq C \lambda^2 \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2. \end{aligned}$$

It then follows

$$(a) \geq -Cs\lambda^2 \int_0^T \int_{\Omega} \xi |\nabla \tilde{\psi}|^2 - C(s + s^2\lambda^2) \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \quad (i)$$

To estimate (b) ones first evaluate $\nabla(\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha))$. In fact from (16), we have

$$\begin{aligned} \nabla(\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha)) &= \lambda^2 \nabla(\xi^2 \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \\ &= 2\lambda^2 \xi \nabla(\xi) \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) + \lambda^2 \xi^2 \nabla(\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \\ &= 2\lambda^3 \xi^2 \nabla(\eta^0) \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) + \lambda^2 \xi^2 \nabla(\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \end{aligned}$$

Thanks to Young inequality and for larger values of λ one obtains

$$\left| \int_0^T \int_{\Omega} \tilde{\psi} \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha)) \right| \leq C \lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right).$$

As done previously, we also have

$$\left| \int_0^T \int_{\Omega} \frac{\partial \xi}{\partial t} \tilde{\psi} \cdot \mathcal{A} \nabla(\tilde{\psi}) \cdot \nabla(\eta^0) \right| \leq C \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right)$$

so that we can state

$$(b) \geq -C(s^2\lambda^3 + s\lambda) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right) \quad (ii)$$

To estimate (c), we have to evaluate $\nabla(\Delta'(\alpha))$. Since

$$\Delta'(\alpha) = -\lambda^2 \xi \cdot \nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0) - \lambda \xi \Delta'(\eta^0),$$

we have

$$\nabla(\Delta'(\alpha)) = -\lambda^3 \xi^2 (\nabla(\eta^0) \cdot \mathcal{A} \nabla(\eta^0)) \nabla(\eta^0) - \lambda^2 \xi^2 \Delta'(\eta^0) \nabla(\eta^0).$$

Applying again Young inequality ones finally obtains

$$(c) \geq -C(s\lambda^3 + s\lambda^2) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right). \quad (iii)$$

Also, we know from (21) that

$$\mathcal{A}\nabla(\tilde{\psi}) \mathbf{n} = e^{-s\alpha} g + s\lambda \tilde{\psi} \mathcal{A}\nabla(\eta^0) \mathbf{n} \text{ on } \Sigma_T.$$

Then we have

$$\begin{aligned} -s \int_{\Sigma_T} \frac{\partial \alpha}{\partial t} \tilde{\psi} \mathcal{A}\nabla(\tilde{\psi}) \mathbf{n} d\sigma dt &= -s \int_{\Sigma_T} \frac{\partial \alpha}{\partial t} \tilde{\psi} e^{-s\alpha} g \mathbf{n} d\sigma dt \\ &\quad - s^2 \lambda \int_{\Sigma_T} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \mathcal{A}\nabla(\eta^0) \mathbf{n} d\sigma dt \\ s \int_{\Sigma_T} \Delta'(\alpha) \tilde{\psi} \mathcal{A}\nabla(\tilde{\psi}) \mathbf{n} d\sigma dt &= s \int_{\Sigma_T} \Delta'(\alpha) \tilde{\psi} e^{-s\alpha} g \mathbf{n} d\sigma dt \\ &\quad + s^2 \lambda \int_{\Sigma_T} \Delta'(\alpha) \tilde{\psi}^2 \mathcal{A}\nabla(\eta^0) \mathbf{n} d\sigma dt \end{aligned}$$

and

$$\begin{aligned} s^2 \int_{\Sigma_T} \nabla(\alpha) \cdot \mathcal{A}\nabla(\alpha) \tilde{\psi} \mathcal{A}\nabla(\tilde{\psi}) \mathbf{n} d\sigma dt &= \\ = s^2 \int_{\Sigma_T} \nabla(\alpha) \cdot \mathcal{A}\nabla(\alpha) \tilde{\psi} e^{-s\alpha} g \mathbf{n} d\sigma dt &+ s^3 \lambda \int_{\Sigma_T} \nabla(\alpha) \cdot \mathcal{A}\nabla(\alpha) \tilde{\psi}^2 \mathcal{A}\nabla(\eta^0) \mathbf{n} d\sigma dt \end{aligned}$$

so that we deduce the following inequality:

$$\begin{aligned} (d) \geq & -Cs\lambda^2 \int_{\Sigma_T} \xi |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt - C(s + s^2\lambda^2) \int_{\Sigma_T} \xi^2 |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt \\ & -Cs^2\lambda^3 \int_{\Sigma_T} \xi \tilde{\psi}^2 d\sigma dt \\ & -Cs^3\lambda^3 \int_{\Sigma_T} \xi^2 \tilde{\psi}^2 d\sigma dt \end{aligned} \quad (iv)$$

Finally, (i), (ii), (iii) and (iv) yield

$$\begin{aligned}
(a) + (b) + (c) + (d) &\geq -Cs\lambda^2 \int_0^T \int_{\Omega} \xi |\nabla \tilde{\psi}|^2 - C(s + s^2\lambda^2) \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \\
&\quad - C(s\lambda + s\lambda^2 + s\lambda^3 + s^2\lambda^3) \left(\int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + \int_0^T \int_{\Omega} \xi^2 |\nabla \tilde{\psi}|^2 \right) \\
&\quad - Cs\lambda^2 \int_{\Sigma_T} \xi |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt \\
&\quad - C(s + s^2\lambda^2) \int_{\Sigma_T} \xi^2 |\tilde{\psi}| e^{-s\alpha} |g| d\sigma dt \\
&\quad - Cs^2\lambda^3 \int_{\Sigma_T} \xi \tilde{\psi}^2 d\sigma dt - Cs^3\lambda^3 \int_{\Sigma_T} \xi^2 \tilde{\psi}^2 d\sigma dt.
\end{aligned}$$

This achieves the proof. \square

Proof of the proposition 3.1. Firstly, replacing $\tilde{\psi}$ by its expression in (18) yealds

$$\begin{aligned}
|\nabla \tilde{\psi}|^2 &= |-se^{-s\alpha} \psi \nabla \alpha + e^{-s\alpha} \nabla \psi|^2 \\
&\leq s^2 e^{-2s\alpha} |\psi|^2 |\nabla \alpha|^2 + 2se^{-2s\alpha} |\psi| |\nabla \alpha| |\nabla \psi| + e^{-2s\alpha} |\nabla \psi|^2 \\
&\leq Ce^{-2s\alpha} (s^2 |\psi|^2 |\nabla \alpha|^2 + 2s |\psi| |\nabla \alpha| |\nabla \psi| + |\nabla \psi|^2)
\end{aligned}$$

and thanks to Young inequality ones obtains

$$\begin{aligned}
|\nabla \tilde{\psi}|^2 &\leq Ce^{-2s\alpha} (s^2 |\psi|^2 |\nabla \alpha|^2 + |\nabla \psi|^2) \\
&\leq Ce^{-2s\alpha} (s^2 \lambda^2 \xi^2 |\psi|^2 |\nabla \eta^0|^2 + |\nabla \psi|^2).
\end{aligned}$$

Secondly, from relations (24) and (25), we can write

$$\begin{aligned}
\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle &= \langle L(\tilde{\psi}), \frac{\partial \tilde{\psi}}{\partial t} \rangle + \langle L(\tilde{\psi}), e^{-s\alpha} F(e^{s\alpha} \tilde{\psi}) \rangle - 2s \langle L(\tilde{\psi}), \nabla(\tilde{\psi}) \cdot \mathcal{A} \nabla(\alpha) \rangle \\
&\quad - \langle L(\tilde{\psi}), \Delta'(\tilde{\psi}) \rangle
\end{aligned}$$

Thus, using inequalities (27) to (30) ones obtains

$$\begin{aligned}
\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle &\geq -C (s\lambda + s\lambda^2 + s^2\lambda^2 + s^2\lambda^3 + s\lambda + s^2\lambda^2 + s\lambda^3) \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 \\
&\quad -Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla\psi|^2 \\
&\quad -C (s + s^2\lambda^2 + s^2\lambda^3 + s\lambda + s^2\lambda^2) \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla\psi|^2 \\
&\quad -C (s^3\lambda^2 + s^4\lambda^4 + s^4\lambda^5 + s^3\lambda^3 + s^4\lambda^4) \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 \\
&\quad -C(s + s^2\lambda^2 + s^2\lambda + s^3\lambda^3) \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 \\
&\quad -C (s^2\lambda + s^3\lambda^3) \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla\psi|^2 \\
&\quad -C (s^4\lambda^3 + s^5\lambda^3) \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\
&\quad -C(s + s^2\lambda^2) \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) - Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&\quad -C (s + s\lambda^2 + s\lambda^2 + s^2\lambda^2) \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&\quad -C (s^2\lambda + s^2\lambda^2 + s^2\lambda^3 + s^3\lambda^3) \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt.
\end{aligned}$$

Since we have taken s and λ large enough this inequality becomes

$$\begin{aligned}
\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle &\geq -Cs^2\lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla\psi|^2 \right) \\
&\quad -Cs^3\lambda^3 \left(\int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla\psi|^2 \right) \\
&\quad -Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla\psi|^2 \\
&\quad -Cs^4\lambda^5 \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 - Cs^5\lambda^3 \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\
&\quad -Cs^2\lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) - Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&\quad -Cs^2\lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&\quad -Cs^3\lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt.
\end{aligned}$$

This achieves the proof. \square

Proposition 3.2. *Assume that $0 < \lambda < \lambda_0$ and $0 < s < s_0$ for given λ_0 and s_0 . Then there exists a positive constant C such that for every $\psi \in \mathcal{C}([0, T]; L^2(\Omega)) \cap L^2(0, T; H^1(\Omega))$ we have*

$$\begin{aligned} \langle L(\tilde{\psi}), L(\tilde{\psi}) \rangle &\geq C s^2 \lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 + C s^4 \lambda^4 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 \\ &\quad - C s^3 \lambda^2 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 - C s^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 e^{-s\alpha} \psi^2. \end{aligned} \quad (31)$$

Proof. We have

$$\begin{aligned} \langle L(\tilde{\psi}), L(\tilde{\psi}) \rangle &= \|L(\tilde{\psi})\|^2 = \left\| s \frac{\partial \alpha}{\partial t} \tilde{\psi} - s \tilde{\psi} \Delta'(\alpha) - s^2 \tilde{\psi} \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \right\|^2 \\ &= s^2 \int_0^T \int_{\Omega} \left(\frac{\partial \alpha}{\partial t} \right)^2 \tilde{\psi}^2 + s^2 \int_0^T \int_{\Omega} \tilde{\psi}^2 (\Delta'(\alpha))^2 \\ &\quad + s^4 \int_0^T \int_{\Omega} \tilde{\psi}^2 (\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha))^2 \\ &\quad - 2s^2 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \Delta'(\alpha) - 2s^3 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \\ &\quad + 2s^3 \int_0^T \int_{\Omega} \Delta'(\alpha) \tilde{\psi}^2 \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha). \end{aligned}$$

We know that

$$s^2 \int_0^T \int_{\Omega} \left(\frac{\partial \alpha}{\partial t} \right)^2 \tilde{\psi}^2 \geq 0$$

Also, for larger value of λ , from the last inequality in (17), we can write

$$(\Delta'(\alpha))^2 \sim C \lambda^4 \xi^2,$$

thus

$$s^2 \int_0^T \int_{\Omega} \tilde{\psi}^2 (\Delta'(\alpha))^2 \geq C s^2 \lambda^4 \int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2.$$

As \mathcal{A} is positive defined and satisfies the ellipticity property, we then obtain the following inequality:

$$s^4 \int_0^T \int_{\Omega} \tilde{\psi}^2 (\nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha))^2 \geq C s^4 \lambda^4 \int_0^T \int_{\Omega} \xi^4 \tilde{\psi}^2.$$

From (12), we have

$$\left| \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \Delta'(\alpha) \right| \leq C \lambda^2 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2,$$

thus

$$-2s^2 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \Delta'(\alpha) \geq -Cs^2 \lambda^2 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2.$$

In the same way, ones successively obtains

$$-2s^3 \int_0^T \int_{\Omega} \frac{\partial \alpha}{\partial t} \tilde{\psi}^2 \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \geq -Cs^3 \lambda^2 \int_0^T \int_{\Omega} \xi^4 \tilde{\psi}^2$$

and

$$2s^3 \int_0^T \int_{\Omega} \Delta'(\alpha) \tilde{\psi}^2 \nabla(\alpha) \cdot \mathcal{A} \nabla(\alpha) \geq -Cs^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2.$$

We finally deduce

$$\begin{aligned} \langle L(\tilde{\psi}), L(\tilde{\psi}) \rangle &\geq Cs^2 \lambda^4 \int_0^T \int_{\Omega} \xi^2 \tilde{\psi}^2 + Cs^4 \lambda^4 \int_0^T \int_{\Omega} \xi^4 \tilde{\psi}^2 \\ &\quad - Cs^2 \lambda^2 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 - Cs^3 \lambda^2 \int_0^T \int_{\Omega} \xi^4 \tilde{\psi}^2 \\ &\quad - Cs^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2. \end{aligned}$$

For larger values of λ and s , we have

$$-Cs^2 \lambda^2 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 - Cs^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2 \geq -Cs^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 \tilde{\psi}^2.$$

The proof is then achieved by replacing $\tilde{\psi}$ by its expression. \square

4 Main Result

The main result is given by the theorem below.

Theorem 4.1. *Assume that hypotheses (4), (5), (6) and (7) hold. Then there exists a non negative constant C depending of Ω , ω and T such that for every*

$$\psi \in \mathcal{C}([0, T]; L^2(\Omega)) \cap L^2(0, T; H^1(\Omega))$$

solution of (1), (2) and (3) with $g \in L^2(\Sigma_T)$, we have

$$\begin{aligned}
s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 + s^4\lambda^4 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 &\leq C s^2 \lambda^3 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 \\
&+ C s^2 \lambda^3 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla \psi|^2 \\
&+ C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla \psi|^2 \\
&+ C s^3 \lambda^3 \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 \\
&+ C s^3 \lambda^3 \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla \psi|^2 \\
&+ C s^4 \lambda^5 \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 \\
&+ C s^5 \lambda^3 \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\
&+ C s^3 \lambda^2 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 \\
&+ C s^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 e^{-s\alpha} \psi^2 \\
&+ C s^2 \lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) \\
&+ C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&+ C s^2 \lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&+ C s^3 \lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt
\end{aligned}$$

where C may denote different constant.

Proof. Knowing that

$$\|L(\tilde{\psi})\|^2 + 2\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle + \|G(\tilde{\psi})\|^2 = 0$$

its follows

$$\|L(\tilde{\psi})\|^2 + 2\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle \leq 0$$

and combining inequalities (26) and (31) of propositions (3.1) and (3.2), we

deduce

$$\begin{aligned}
0 &\geq \|L(\tilde{\psi})\|^2 + 2\langle L(\tilde{\psi}), G(\tilde{\psi}) \rangle \\
&\geq -Cs^2\lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla\psi|^2 \right) \\
&\quad -Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla\psi|^2 \\
&\quad -Cs^3\lambda^3 \left(\int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla\psi|^2 \right) \\
&\quad -Cs^4\lambda^5 \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 - Cs^5\lambda^3 \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\
&\quad -Cs^2\lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) - Cs\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&\quad -Cs^2\lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&\quad -Cs^3\lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt \\
&\quad +Cs^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 + Cs^4\lambda^4 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 \\
&\quad -Cs^3\lambda^2 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 - Cs^3\lambda^4 \int_0^T \int_{\Omega} \xi^3 e^{-s\alpha} \psi^2.
\end{aligned}$$

This finally implies the inequality (4.1) and the proof is achieved. \square

From the above result one can deduce the following estimate.

Corollary 4.2. *Under hypotheses of the theorem (4.1), we have:*

$$\begin{aligned}
s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 &\leq Cs^5\lambda^5 \left(\int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} |\nabla\psi|^2 \right) \\
&\quad +Cs^2\lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi F(\psi) \\
&\quad +Cs^2\lambda^2 \int_{\Sigma_T} \xi^2 e^{-s\alpha} |\psi| |g| d\sigma dt \\
&\quad +Cs^3\lambda^3 \int_{\Sigma_T} \xi^3 e^{-s\alpha} \psi^2 d\sigma dt.
\end{aligned} \tag{32}$$

Proof. Knowing that $\xi^4 e^{-s\alpha} \psi^2 \geq 0$, we have:

$$s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 \leq s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 + s^4\lambda^4 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2$$

and the inequality (4.1) is written

$$\begin{aligned}
s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 &\leq C s^2 \lambda^3 \left(\int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} |\nabla \psi|^2 \right) \\
&+ C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} |\nabla \psi|^2 \\
&+ C s^3 \lambda^3 \left(\int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^3 e^{-2s\alpha} |\nabla \psi|^2 \right) \\
&+ C s^4 \lambda^5 \int_0^T \int_{\Omega} \xi^4 e^{-2s\alpha} \psi^2 + C s^5 \lambda^3 \int_0^T \int_{\Omega} \xi^5 e^{-2s\alpha} \psi^2 \\
&+ C s^3 \lambda^2 \int_0^T \int_{\Omega} \xi^4 e^{-s\alpha} \psi^2 + C s^3 \lambda^4 \int_0^T \int_{\Omega} \xi^3 e^{-s\alpha} \psi^2 \\
&+ C s^2 \lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) \\
&+ C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&+ C s^2 \lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&+ C s^3 \lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt
\end{aligned}$$

Note that the first five terms of the second member of the inequality below may be absorbed by the term $C s^5 \lambda^5 \left(\int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} |\nabla \psi|^2 \right)$ so that one gets

$$\begin{aligned}
s^2\lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 &\leq C s^5 \lambda^5 \left(\int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} |\nabla \psi|^2 \right) \\
&+ C s^2 \lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi) \\
&+ C s \lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi) \\
&+ C s^2 \lambda^2 \int_{\Sigma_T} \xi^2 e^{-2s\alpha} |\psi| |g| d\sigma dt \\
&+ C s^3 \lambda^3 \int_{\Sigma_T} \xi^3 e^{-2s\alpha} \psi^2 d\sigma dt.
\end{aligned}$$

The corollary is established by noting that the term $s\lambda^2 \int_0^T \int_{\Omega} \xi e^{-2s\alpha} \psi F(\psi)$ can be absorbed by the term $s^2\lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-2s\alpha} \psi F(\psi)$ and that $e^{-2s\alpha} \leq e^{-s\alpha}$. \square

Next, to obtain the observability inequality type, we will refer to [4] to the state that for every $\psi \in \mathcal{C}([0, T]; L^2(\Omega)) \cap L^2(0, T; H^1(\Omega))$ and thanks to the

property (12), the term

$$s^5 \lambda^5 \left(\int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} \psi^2 + \int_0^T \int_{\Omega} \xi^5 e^{-s\alpha} |\nabla \psi|^2 \right)$$

can be absorbed by $C s^5 \lambda^5 \int_0^T \int_{\omega} \xi^5 e^{-s\alpha} \psi^2$. Consequently, we have the following result.

Theorem 4.3. *There is a positive constant C depending on T , Ω et ω such that*

$$s^2 \lambda^4 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi^2 \leq C \left(s^2 \lambda^2 \int_0^T \int_{\Omega} \xi^2 e^{-s\alpha} \psi F(\psi) + s^5 \lambda^5 \int_0^T \int_{\omega} \xi^5 e^{-s\alpha} \psi^2 + s^2 \lambda^2 \int_{\Sigma_T} \xi^2 e^{-s\alpha} |\psi| |g| d\sigma dt + s^3 \lambda^3 \int_{\Sigma_T} \xi^3 e^{-s\alpha} \psi^2 d\sigma dt \right). \quad (33)$$

References

- [1] T. Carleman, Sur un problme d'unicit pour le systme d'equations aux drives partielles deux variables independentes, *Ark. Mat. Astr. Fys*, **26B**(17), (1939), 1-9.
- [2] A. V. Fursikov, and O. Y. Imanuvilov, *Controllability of evolution equations*, Seoul National University, (34), (1996).
- [3] C. Flores and L. De Teresa, Carleman estimates for degenerate parabolic equations with first order terms and applications, *C. R. Math. Acad. Sci. Paris*, **348**, (2010), 391-396.
- [4] E. Fernandez-Cara, M. Gonzales-Burgos, S. Guerrero, and T.P. Puel, Null controllability of the heat equation with boundary Fourier conditions: the linear case, *ESAIM control Optim. Calc. Var.*, bf 12, (2006), 442-465.
- [5] E. Fernandez-Cara and S. Guerrero, Global Carleman inequalities for parabolic systems and application to controllability, *SIAM J. Control Optim.*, **45**, (2006), 1395-1446.

- [6] O. Y. Imanuvilov, and M. Yamamoto., An inverse problem and an observability inequality for the Lam system with stress boundary condition, *Appl. Anal.*, **88**, (2009), 711-733.
- [7] O. Y. Imanuvilov, G. Uhlmann and M. Yamamoto., The calderon problem with partial data in two dimensions, *Journal American Math. Society*, **23**, (2010), 55-691.
- [8] J. P. Puel, *Application of global carleman estimates to controllability and inverse problems*, Monograph, Universidad Federal de Rio de Janeiro, 2008.
- [9] J. P. Puel, A nonstandard approach to a data assimilation problem and Tychonov regularization revisited, *SIAM Journal on Control and Optimization*, **48**(2), (2009), 1089-1111.
- [10] J. Le Rousseau, and G. Lebeau, On Carleman estimates for elliptic and parabolic operators: Application to unique continuation and control of parabolic equations, *ESAIM control Optim. Calc. Var.*, **18**, (2012), 712-747.
- [11] M. Salo, L. Tzou, Carleman estimates and inverse problem for Diracs operators, *Math. Optim.*, **344**, (2009), 161-184.
- [12] B. Wu, Carleman estimate for a strongly damped wave equation and applications to an inverse problem, *Math. Methods Appl. Sci.*, **35**, (2012), 427-437.